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% JN-| RRIEEAR &%
XML |% & 4 a8 EE&ER S (BLMHT) (B) ISBEE
(A) g | = | s (B/A)
FHE |- #BlEER |15 |1Eay 72 36 36 72 1.00
2ZEEHLE 6 1 0 1 0.17
288 |1EEHY 72 30 31 61 0.85
2ZEHEHLE 6 1 0 1 0.17
3T |1FEHEY 48 1 9 10 0.21
2ZEHHLE 3 0 0 0 0.00
1FEHELE 192 67 76 143 0.74
#w E 2ZEHY LR 15 2 0 2 0.13
&t 207 69 76 145 0.70
(8) Bl D4R (FfE LU &)
% YN =RIGHEAR & #%
XHEHE |2 & 4 & - ZE&ER S (BLMHT) (B) ISHEE
(A) g | = | s (B/A)
FE | B L wEaEs 1FFERY 100 74 103 177 1.77
1~4%R 2ZEHHLE 50 4 2 6 0.12
&t 150 78 105 183 1.22
F#RRl2-480 |WFEHREY 46 59 24 83 1.80
1FEHELSE 146 133 127 260 1.78
#® 3 2 FERBL L 50 4 2 6 0.12
&t 196 137 129 266 1.36
(9) B DFR GEEERK)
3 YN =RICHEAR = #&
XHEHE |2 & 4 Rl -EB ZER S (BLMHT) ) ISEEE
(A) g | = | = (B/A)
AR |% B|EER |18 | FEEES 72 36 42 78 1.08
2ZFEHHLE 5 0 0 0 0.00
28 |1FEHRY 72 16 24 40 0.56
2ZFEHALE 5 0 0 0 0.00
3B | 1FFEEY 48 5 1 6 0.13
2ZFEHALE 5 0 0 0 0.00
1RFERLE 192 57 67 124 0.65
#w g 2ZEHLLEE 15 0 0 0 0.00
Hi 207 57 67 124 0.60
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3 IN-| =RIGBAR = %’
REHE |2 & & BoA ZE&ERXH (BxEHY) (B IEEEE
(A) g2 | = | & (B/A)
XHE |KX 8 I #EER 1FEHEE 30 7 1 8 0.27
HEEIZEH 12EHY 30 1 0 1 0.03
60 8 1 9 0.15
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% JN-| RRIEEAR &%
REHEZ |2 & & B & ZEE&ER S (BLMHT) (B) ISBEE
(A) 2} z H (B/A)
| £ 74 ZElE@E 18 [12EHEY 72 17 21 38 0.53
2ZFEHYLE 6 0 0 0 0.00
288 |1EEHEY 72 17 20 37 051
2ZFEHEYLE 6 0 0 0 0.00
3B |1FEHEY 48 9 2 11 0.23
2ZEHYLE 3 0 0 0 0.00
1FEHELE 192 43 43 86 0.45
w3 2ZEHY LS 15 0 0 0 0.00
&t 207 43 43 86 0.42
(12) BRI HI DR (REEK)
% YN =RIGHEAR & #%
REHEZ |2 & & BoA ZE&ER S (BLMHT) (B) ISBEE
A g | = | (B/A)
it re BIEER 1FEHESY 60 8 4 12 0.20
B 60 8 4 12 0.20
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% YN =RIGEAR &= &
RHEHE |2 & £ EE SE&EEH (Bx@EHT) (B) IEEEE
(A) B z 5 (B/A)
wE |k B A EEER 1RERY 30 4 3 7 0.23
it 30 4 3 7 0.23
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3 YN RRIEEAR = %
REHE |2 & & BoA ZER S (BLMHT) ) ISEEE
(A) g | = | = (B/A)
NEF P\VE F 4 E|BEE |18 |1FFES 72 71 64 135 1.88
22 FEHLLE 6 0 0 0 0.00
2% |1RFEHES 72 54 43 97 1.35
22 FHELELUE 6 2 0 2 0.33
3 E2EMRS 48 25 13 38 0.79
22 FEHLLE 3 0 0 0 0.00
1RFERLE 192 150 120 270 1.41
# B 2 FHAE LG 15 2 0 2 0.13
Hi 207 152 120 272 1.31
(15) BT HI DZE4% (B E#R)
3 JN-| =RIGBAR & #
RMEHE |2 & & -8 ZE&EEH (BxEHT) (B) ISEEE
A g | = | = (B/A)
v TV 1 NM|EER1~3E |[12EHS 120 84 87 171 1.43
2FFRLLE 15 0 0 0 0.00
&t 135 84 87 171 1.27




(16) Al D28 (FEHREaER)

- YN | RRIEEAR &%
REHEZ |2 & & B & ZEE&ER S (BLMHT) (B) ISBEE
(A) 2} z H (B/A)
HHE O|F B KB SHReEn 1FERY 90 19 9 28 0.31
it 90 19 9 28 0.31
(A7) BRI DZER (RABRBETR)
BHEAB RRIEEAR &%
RMEHEZ |2 & & BoA ZE&ER S (BLMHT) (B) ISBEE
(A) g2 | = | = (B/A)
BABXK |RABREBRE |RexH 1FEHESY 60 14 17 31 0.52
Hi 60 14 17 31 0.52
(18) BuHREER (FrLUORI—)L) RUBHEER (FrLo D)
% YN =RIGHEAR &%
RHEHE |2 & 4 & - ZE&ER S (BLMHT) (B) ISHEE
A g | = | & (B/A)
& N K K|BREER 1FEHESY 170 108 167 275 1.62
1~3&B 2ZEHYLE 15 0 2 2 0.13
&t 185 108 169 277 1.50
IR | XK I FlRezEs 1FEHESY 170 114 103 217 1.28
1~3%&B 2FFEHLLE 15 1 2 3 0.20
&t 185 115 105 220 1.19
HEAS [ H & R[HREFER 1FEHESY 170 99 126 225 1.32
1~3%p 2ZFEHYLE 15 2 0 2 0.13
&t 185 101 126 227 1.23
RO r  E|ReER 1FEHESE 230 160 129 289 1.26
1~3%&B 2FEHLLE 15 0 0 0 0.00
&t 245 160 129 289 1.18
it Wy E|REeER 1FEHESY 170 73 82 155 0.91
1~3%p 22 FEHLLE 15 0 0 0 0.00
Hi 185 73 82 155 0.84
B i | & #HBlrexn 1EERY 230 105 108 213 0.93
1~3&R Hi 230 105 108 213 0.93
NEF P\ E F 36 E|EER 1EERY 60 50 41 91 1.52
1-2%8 Hi 60 50 41 91 1.52
12EHEEE 1,200 709 756 1,465 1.22
FrLoORI—ILRUF YLD 5 2FFEME L R 75 3 4 7 0.09
&t 1,275 712 760 1,472 1.15
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5 £ K % (BxEHT) (B) ISEEE
) g | = | & (B/A)
1RERBER 2,534 1,296 1,310 2,606 1.03
2R EHL L EERE 200 11 6 17 0.09
B 2,734 1,307 1,316 2,623 0.96




